This tabulation of bids is not indicative of an award or intent to award to a particular contractor. Copies of bid responses are being forwarded to the Project Manager, who will provide an award recommendation to Columbus Council.

April 27, 2011

Description	Qty.	JHC Corporation (Peachtree City GA)		Southeastern Site Development (Newnan GA)		Cline Service Corp. (Columbus GA)		D. Dean & Associates (Columbus GA)	
		Unit	Ext	Unit	Ext	Unit	Ext	Unit	Ext
Mobilization costs, l.s.	l.s.	230,100.00	230,100.00	107,500.00	107,500.00	129,500.00	129,500.00	230,379.00	230,379.00
Install way-finding sign (W-1), ea	49	325.00	15,925.00	375.00	18,375.00	300.00	14,700.00	476.00	23,324.00
Install way-finding sign (W-2), ea	4	325.00	1,300.00	375.00	1,500.00	300.00	1,200.00	476.00	1,904.00
Install way-finding sign W-3), ea	5	325.00	1,625.00	375.00	1,875.00	300.00	1,500.00	476.00	2,380.00
Install way-finding sign (W-4), ea	4	325.00	1,300.00	375.00	1,500.00	300.00	1,200.00	476.00	1,904.00
Install Flatrock Park sign, ea	1	2,400.00	2,400.00	1,900.00	1,900.00	5,000.00	5,000.00	1,785.00	1,785.00
Install You Are Here sign, ea	9	2,600.00	23,400.00	2,365.00	21,285.00	5,000.00	45,000.00	2,245.00	20,205.00
Install Rule sign, ea	8	2,400.00	19,200.00	1,880.00	15,040.00	5,000.00	40,000.00	1,785.00	14,280.00

This tabulation of bids is not indicative of an award or intent to award to a particular contractor. Copies of bid responses are being forwarded to the Project Manager, who will provide an award recommendation to Columbus Council.

April 27, 2011

Description	Qty.	JHC Corporation (Peachtree City GA)		Southeastern Site Development (Newnan GA)		Cline Service Corp. (Columbus GA)		D. Dean & Associates (Columbus GA)	
Construct brick pillar gateway on 10th Ave, ea	1	28,300.00	28,300.00	14,000.00	14,000.00	20,000.00	20,000.00	17,915.00	17,915.00
Construct brick pillar gateway on Psalmond Rd, ea	1	29,650.00	29,650.00	14,100.00	14,100.00	20,000.00	20,000.00	18,839.00	18,839.00
Install Park & Ride Entrance sign, ea	2	15,600.00	31,200.00	10,300.00	20,600.00	20,000.00	40,000.00	10,023.00	20,046.00
Install Park & Ride Logo sign, ea	2	1,500.00	3,000.00	485.00	970.00	5,000.00	10,000.00	1,875.00	3,750.00
Construct 10' brick pillar without solar panel, ea	4	4,600.00	18,400.00	3,050.00	12,200.00	7,000.00	28,000.00	3,103.00	12,412.00
Construct 8' brick pillar without solar panel, ea	16	4,200.00	67,200.00	2,900.00	46,400.00	7,500.00	120,000.00	2,918.00	46,688.00
Install mile marker signs, ea	20	600.00	12,000.00	3,600.00	72,000.00	300.00	6,000.00	476.00	9,520.00
Install 1/10 mil marker signs, ea	100	145.00	14,500.00	65.00	6,500.00	300.00	30,000.00	125.00	12,500.00

This tabulation of bids is not indicative of an award or intent to award to a particular contractor. Copies of bid responses are being forwarded to the Project Manager, who will provide an award recommendation to Columbus Council.

April 27, 2011

Description	Qty.	JHC Corporation (Peachtree City GA)		Southeastern Site Development (Newnan GA)		Cline Service Corp. (Columbus GA)		D. Dean & Associates (Columbus GA)	
Plant all trail landscaping items, l.s.	l.s.	54,000.00	54,000.00	57,500.00	57,500.00	49,000.00	49,000.00	51,841.00	51,841.00
Install weight signs and speed limit signs, ea	6	325.00	1,950.00	375.00	2,250.00	300.00	1,800.00	260.00	1,560.00
Construct concrete split median at 10th Street, l.s.	l.s.	14,000.00	14,000.00	29,350.00	29,350.00	3,500.00	3,500.00	14,000.00	14,000.00
Construct concrete split median at Reese Rd, I.s.	l.s.	10,100.00	10,100.00	24,900.00	24,900.00	3,500.00	3,500.00	10,000.00	10,000.00
Remove existing median/add dome panels, Warm Springs Rd.	l.s.	8,100.00	8,100.00	13,600.00	13,600.00	3,500.00	3,500.00	12,000.00	12,000.00
Install complete signal work at 10th Avenue, I.s.	l.s.	17,200.00	17,200.00	27,750.00	27,750.00	24,500.00	24,500.00	26,278.00	26,278.00
Install complete signal work at Old Reese Road, I.s.	l.s.	19,200.00	19,200.00	31,000.00	31,000.00	25,500.00	25,500.00	29,476.00	29,476.00
Install complete signal work at Warm Springs Rd Conn, I.s.	l.s.	19,400.00	19,400.00	29,150.00	29,150.00	26,500.00	26,500.00	27,646.00	27,646.00

This tabulation of bids is not indicative of an award or intent to award to a particular contractor. Copies of bid responses are being forwarded to the Project Manager, who will provide an award recommendation to Columbus Council.

April 27, 2011

Description	Qty.	JHC Corporation (Peachtree City GA)		Southeastern Site Development (Newnan GA)		Cline Service Corp. (Columbus GA)		D. Dean & Associates (Columbus GA)	
Install complete signal work at Miller Road, I.s.	l.s.	21,000.00	21,000.00	47,250.00	47,250.00	30,000.00	30,000.00	44,846.00	44,846.00
Provide thermoplastic pavement marking work, l.s.	l.s.	15,000.00	15,000.00	11,625.00	11,625.00	18,500.00	18,500.00	18,225.00	18,225.00
Install pedestrian guardrail, l.f.	104	75.00	7,800.00	47.35	4,924.40	75.00	7,800.00	58.00	6,032.00
Allowance for fire hydrant @Manchester Park & Ride	Allow	10,000.00	10,000.00	10,000.00	10,000.00	10,000.00	10,000.00	10,000.00	10,000.00
Allowance for additional work at various locations	Allow	5,000.00	5,000.00	5,000.00	5,000.00	5,000.00	5,000.00	5,000.00	5,000.00
Realign existing trail @ Slade Drive crossing, l.s.	l.s.	39,400.00	39,400.00	50,550.00	50,550.00	19,500.00	19,500.00	31,875.00	31,875.00
Allowance to purchase/install playground equipment	Allow	50,000.00	50,000.00	50,000.00	50,000.00	50,000.00	50,000.00	50,000.00	50,000.00
Install rubber playground safety surface, s.y.	1400	25.50	35,700.00	10.00	14,000.00	70.00	98,000.00	12.00	16,800.00

This tabulation of bids is not indicative of an award or intent to award to a particular contractor. Copies of bid responses are being forwarded to the Project Manager, who will provide an award recommendation to Columbus Council.

April 27, 2011

Description	Qty.	JHC Corporation (Peachtree City GA)		Southeastern Site Development (Newnan GA)		Cline Service Corp. (Columbus GA)		D. Dean & Associates (Columbus GA)	
Construct playground sand box, l.s.	l.s.	12,500.00	12,500.00	10,600.00	10,600.00	25,000.00	25,000.00	10,074.00	10,074.00
Construct concrete flatwork in playground area, s.y.	950	31.00	29,450.00	2.55	2,422.50	30.00	28,500.00	3.50	3,325.00
Install combination park bench & trash receptacle, ea	6	1,200.00	7,200.00	1,525.00	9,150.00	2,000.00	12,000.00	1,165.00	6,990.00
Addendum Item: Construct earthen berms, c.y.	5000	17.00	85,000.00	15.50	77,500.00	8.00	40,000.00	"Lump"	67,650.00
To	OTAL BID	961,500.00		864,266.90		994,200.00		881,449.00	